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Human Development
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SECTION - A

Answer any three of the following : (12x3=36)

AN LK A~ W N

Discuss the different methods used in the study of Human development.
Describe the social development during childhood.

What is old age ? Briefly explain the adjustment required during old age.
Explain sex determination and the various types of twins.

Discuss the nature-nurture issue in Human Development.

What is Prenatal Development ? Explain its significance in Human Development.

SECTION - B

Answer any two of the following : (9%2=18)

1.

Explain the role of ecological factors in Human Development.

2. Explain the factors influencing vocational adjustment in adulthood.
3.
4

. Briefly describe the behavioural problems of children.

Explain the periods of life span development briefly.

SECTION - C

Write short notes on any 4 of the following : (4x4=16)

AN U A~ W N

Socialization

Self

Cognitive Development
Attention Deficit Disorders
Adolescence

Case study method.
P.T.O.
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SECTION - D

I. Briefly describe the plan and procedure precautions and other details for the
following experiments (10x1=10)

a) Mapping of color zone.
OR
b) Simple Reaction Time.

II. Following results were obtained from the experiment on localization of sound.
Discuss and draw conclusion. (10x1=10)

SL. No Sub 0 45 90 135 180 225 270 315 Above Below
Front Front Rt Behind Behind Behind Left Front
Rt Rt Left left
60% 80% 60% 100% 100% 40% 40% 80% 60% 60%
80% 40% 100% 80% 80% 100% 60% 100% 80%  40%
100% 80% 60% 40% 100% 60% 80% 80% 100% 80%
100% 80% 60% 80% 100% 100% 70% 60% 80% 40%
100% 60% 100% 100%  60% 60% 60% 80% 100% 100%
OR

Following results were obtained from the experiment on color blindness. Discuss
and draw conclusions.

LN A W N =
m O O = >

SI. no. Sub No. of Plate Read Correctly

1 A 17

2 B 12

3 C 16

4 D 15

5 E 12

III. a) Calculate QD (Quartile Deviation) for the data. (10x1=10)

50-59

60-69

70-79

80-89

90-99

100-109

OR

b) Calculate standard error for a sample of 4, 120, 125, 160 and 150 whose
mean 1s 138.8 and standard deviation 1s *+ 19.31.
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T3 FPNT OIRR)TTTR FRT @%ﬁ@ﬁ SVZOY : (12x3=36)
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SO TR (W) LGONTTO WIRGRNIEI DG DOBNTR) W R

TR BOD WP LB INIRS, 0.

T3, TR 0TI ? [T, TODRF AIPSRERFONT, FOFTN QSO

QG DO SEIIMIR B M AGoF BT D[OR.

TRTR D5R (WIS T, TI & TP RO TRTT[R, W A

B ~TPROF R WER OTTERD ? WRTES VAT BT TR BHOD TR BOLR) B0,
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B TINT CORJYTRWOR TR TINOT GUZ0R: (9%x2=18)

1.

TRTD VFREA, TORTEITT TF QEBOR.

2. SoOmBHODY, Wie,eNE RerodneSodd @6 g Lesdss BoBnes) D0
3.
4. B[ovg [TFI RRBOFNTD, Bo§TN TEIF A

BRERT WERSHODOS 2RI TWGOD DT CBONIRD RoEFN HRO%.

2 — PN

B3 BN CURIYTITETR T, DROKE, &0 E5TE8 LS00 : (4x4=16)

AN Lt A W N

TORINETTED
R,0d0
R0 TOTT WBEIT
PR BRTS FOWS
SAFREE
R3RT0Z &G 00T
&— dwen
B3 IINT TodReng, 03peesS S T0TPNE BN YT DRI, Bo§ToN BESF L.
a) TEFFEGNII oD [UPYT T LROTEYTO. (1x10=10)
(latvp)
b) =o¥ Ze3on o
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II. 83 3INIFTT, GO
a) 83 39N PIP0TR) BWT A AGOFTEINOT LORTITE. BRNIR, L3F 2 VEDF OPNIY, BRE.

g osd a"ed 0 45 90 135 180

LN A W N =

Front Front Rt Behind Behind Behind

Rt Rt
60% 80% 60% 100% 100%
80% 40% 100% 80%  80%
100% 80% 60% 40% 100%
100% 80% 60% 80% 100%
100% 60% 100% 100% 60%

(latvp)

M O O W »

225

Left
40%
100%
60%
100%
60%

270
Left

40%
60%
80%
70%
60%

315
Front
left
80%
100%
80%
60%
80%

(10x1=10)
e R
60%  60%
80% 40%
100%  80%
80% 40%

100% 100%

83 FINT FOTo0TRY) e 0538 TOIRENDIOT LWONTOZT. %@ﬁ%ﬁd& 033 @sarojaﬁ%f:oq ERR.

33 Fogl, QROD
1 A 17
2 B 12
3 C 16
4 D 15
5 E 12
III. a) 833N T3 3B05F 3 ?,é%\%odasaq BOTILROWD.
50-59
60-69
70-79
80-89
90-99
100-109
(latvp)
b) 85 39N T2R0INYR Tmwes ciraeo,—-idag BOTOZEOWD.

Besrd mg = 4, 120, 125, 160 =8y 150
Rooso = 138.8

SnTE W = £19.31

Ro0dnN £.0F FoEne (Few®) Fos

(10x1=10)



